SAP ABAP table TXI T882G {Company code - ledger assignment}

TXI T882G-MANDT = TOO0-MANDT _ __ T000
T 0-N "MANDT [CLNT (3)]

L TOO1
K TXI ' T882G-RBUKRS = T001- BUKRS_ N MANDT [CLNT (3)]
7 -7 BUKRS [CHAR (4)]
// - -7
/ _ P
) -7 T004
)/ 7 MANDT [CLNT (3)]

TXI T882G-KTOPL = T004-KTOPL
- ~ =~ -0.N [KTOPL [CHAR (4)]

P T009
0 N X _T882G-PERIV = TO09-PERIV __ MANDT [CLNT (3)]
N ---mmTTTT " | PERLV [CHAR (2)]
0.N' Tx] T882G-OPVAR = T0100-OPVAR
_______________ T0100
_ TXI_T882G-RLDNR = T881-RLDNR 0..N | MANDT [CLNT (3)]
I OPVAR [CHAR (4)]

Te- o T881
\ _ = -
. T?{I T882G-CURR1 = TCURC-WAERS (0..N [anDT [CLNT (3)]
" \\\ ) RLDNR [CHAR (2)]
\\ T ~ -
" -l TCURC
*. TXI T882G-CURR2 = TCURC-WAERS ( N
N 7" | MANDT [CLNT (3)]

-~ __ 0-.N |WAERS [CUKY (5)]




